Name Date

1. Circle groups of two shirts.
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There are _______ groups of two shirts.

2. Circle groups of three panfts.
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There are groups of three pants.
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3 groups of wheels

4. Redraw the 12 wheels into 4 equal groups.
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4 groups of wheels
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5. Redraw the apples to make each of the 4 groups have an equal amount.
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4 groups of apples = apples.

6. Redraw the oranges to make 3 equal groups.
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3 groups of oranges = oranges.
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Answer Key

1. 3 groups of two shirts circled; 3 4. 4 groups of 3 wheels drawn; 3
2. 4groups of three pants circled; 4 5. 4 groups of 2 apples drawn; 2, 8
3. 3 groups of 4 wheels drawn; 4 6. 3 groups of 5 oranges drawn; 5, 15
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